MATH 212 WORKSHEET 1 Auc 20 2020, INSTRUCTOR: JiuyA WANG

Problem 1 : Vector computation
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Problem 2 : Simplification
Simplify or compute the following expressions:
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Problem 3
Page 16, Problem 2: Determine whether the expressions are legal or not, and if legal, determine
the expression is a vector or a number:
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Problem 4: Geometry and Vectors

1. Given A(1,¢), B(2,3) and 0O(0,0). For what value of ¢ we have OA L OB? For what
value of ¢ we have OA is parallel to OB?

2. [ is the plane passing through A(1,2,0) , B(0,0,1), C(0,1,0).

(a) What is the normal vector 7 of 7

(b) Given arbitrary point X: (x,y, z) on the pl%le, what is AX -7 ?

(c) What is the defining equation of {7 P %’ P 0 l_;g- % EG\- ) @

3. Find the area of the triangle with vertices P(1,1,0), Q(1,0,1) and R(—3,—2,2).
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4. Find the volume of the‘polygon!with vertices 0(0,0,0), P(1,1,0), Q(1,0,0) and R(1,1,1).
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